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Name kc,\/'

Revie‘;av 5.1-5.3:

1. Sketch and label the following graphs on the axes below.

a) fix) = logy(x)
b) fix) = logs(-x)
¢) fix) = logy(x) — |
d).f(x) = -logs(x + 2)
e). fix) =3

2. Find the following.
a. log(1)=O
c. loga)= |

e. log(a")=X

g. log,(uv)= Ia}“(l«)* ‘0&!)’)
" 105( %—) = log(u) - log(v)
k. logix)"= \ ‘rcc‘)ﬂ(xj

3. Evaluate.

a. log(64)= 3

c. logy(7)= zt
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b. in(1)= O
d. In(e)= |
f. In(e)'= X
h. Jn(av) = In(u)+in(v)
i m(%)= In() - Ih(v)

1. io&(,g“)= nin(x)

b. Ine)= 3

d. |og3[2—'?)= -3

4. Use the definition of logarithms to rewrite the exponentials as logs

a. 3'=81

k-x)%(’ﬁi) = "I‘

b. e'=54.6

In(sh6) =4

5. Use the change of base formula to rewrite the following as a quotient of common logs

and natural logs.

a. logy(11)= log@) 5 @)
log(6) ' \n(6)

b. In(5)=

ID__%(.Q e (8)
locj{e) " in(e)
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5. Use the properties of logarithms to rewrite the expressions as the sum or difference

a. log (3%) loa(3) be ) b 1"[5) In(x) - 11: i)

d. |n[x3 . -drt:’.)

1 o) 3G + 2
2 ()~ Zhooy(2) t T L Ine)

and/or the constant multiple of logs.

7

&, Iﬂg[z—z

6. Use the properties of logarithms to rewrite the expressions as a single log.
b. In(24) — In(3)

a. loge(7) + logs(5)
\og,.(35) (%)

d. ﬁln(x)—Zln(y)—%ln(z)

c. %log{x}—S]og( »)
le (—'ﬁ- ) ( A )
I\ys lA y2
7. Find the exact value of the following logs.
a. 2log+/x —log(x) b. 6in(e’)
A

O
c. log,(16)*° d. In(1)* +2In(e)’ - 3In(e*)
5 -
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